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Exercise 20

Radicals and Exponents Evaluate each expression.

(a) − 23 · (−2)0 (b) − 2−3 · (−2)0 (c)

(
−3

5

)−3

Solution

Evaluate these expressions, noting that any number raised to the power of 0 is 1. Also, a negative
exponent switches the numerator and the denominator.

Part (a)

−23 · (−2)0 = −23 · (1)

= −23

= −8

Part (b)

−2−3 · (−2)0 = −2−3 · (1)

= −2−3

= − 1

23

= −1

8

Part (c)

Multiplying three negative signs together makes the result negative.(
−3

5

)−3

=

(
5

−3

)3

=

(
5

−3

)(
5

−3

)(
5

−3

)

= −53

33

= −125

27
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